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	I (                ) our radio advertisement was very effective.

	I hope the new ad campaign will (                ) sales.

	She has access to the (                ) documents.

	We couldn't visit the lighthouse due to time (                ).

	What factor (                ) your company from others?

	Three large companies (                ) the market.

	The government (                ) a ban on smoking in public places.

	Alice (                ) in searching for a job.

	Agriculture plays a (                ) role in the country's economy.

	The guest speaker was a (                ) scientist.

	There's a (                ) possibility that my trip will be canceled.

	Access to the building is (             ) to authorized personnel only.

	The company (                ) his contract.

	We need to (                ) your account information.

	We (                ) a different approach to the problem.

	The firm has (                ) two thousand dollars to the project.

	We have (                ) high levels of customer satisfaction.

	The housing market has (                ).

	The club held a party to (                ) its first anniversary.

	The stockholders gave their (                ) to the proposed merger.


